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Answer all following Questions: (Total score: 60 Marks)
Question 1: (Total score: 15 marks, 5 marks each)

Write short notes on
1. General Types and general properties of hormones
2. Control and Clinical Significance of GH secretion
C. Synthesis and secretion of thyroid hormones

Question 2: (15 marks)

A) Fill in the space: (5 marks)
(R (1Y owsimicas stimulates the production of HCI and the enzyme pepsin
R ) stimulates contraction of the gallbladder
o2 L [() inhibits GH release in response to GHRH
7 (4).nsiuisn serves as the major prolactin-inhibiting factor
5. The pineal gland is stimulated to produce serotonin by ........ (B) s
B) True or false and correct the fals:: statements: (5 marks)

1) Testosterone hormone is hydrophilic / lipophobic hormone

2) Prostaglandins hormone is an eicosanoids hormone.

3) Growth hormone has a autocrine effect

4) Hyperthyroidism is one of the clinical significance of Increase levels of TSH
5) Prostaglandins cause the uterus to contract and labor begins

C) Give one reason for the following events: (5 marks)
1) injection of insulin can kill patients
2) Inhibition of breast milk production after birth, If the breasts are not fully emptied
3) Cushing's disease
4) The brain and the liver tissue do not require insulin for efficient uptake of glucose
5) Secondary hyperparathyroidism
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Question 3: (Total score: 15 marks, 3 marks each)

Why the removal of the adrenal glands leads to death within just a few days
What is the role of antiduretic hormones in the regulation of the body fluids?
. How the sperms can move through the female reproductive system?

. How the oxytocin can stimulate the breast milk ejection?

. When the insulin injections are nct useful for therapy?
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Question 4: (Total score: 15 marks)
A) Explain in details how the calcium and phosphorus concentrations were regulated
in extracellular fluid by the endocrine glands (10 marks)

B) MULTIPLE CHOICE (5 marks)

1) Which of the following controls body temperature, sleep, and appetite?
(A) Adrenal glands (B) Hypothalamus

(C) Pancreas (D) Thalamus

(E) Thyroid gland

2) Which of the following is the master gland of the endocrine system?

(A) Adrenal (B) Pancreas
(C) Pineal (D) Pituitary
(E) Thyroid

3) All of the following are steroid hormones except

(A) Androgen (B) Cortisol.
(C)Insulin. (D) Estrogen.
(E) Testosterone

4) The main target organs for tropic hormones are

(A) Pancreas (B) Blood vessels.
(C)Endocrine glands. (D) Kidneys.
(E)Bones.

5) What is the correct order in which G protein coupled receptor systems are activated?
(A) Hormone — Receptor — Protein kinase A — Adenyl cyclase — G protein — Cellular response
(B) Hormone — Receptor — G protein — Adenyl cyclase — Protein kinase A — Cellular response
(C) Hormone — Receptor — G protein — Protein kinase A — Adenyl cyclase — Cellular response
(D) Hormone — Receptor — Adenyl cyclase — G protein — Protein kinase A — Cellular response
(E) Hormone — Receptor — Adenyl cyclase — Protein kinase A — G protein — Cellular response
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